A AECC -6.2

| Semester B.Sc./B.C.A. Examination, February/March 2023
(NEP)
LANGUAGE SANSKRIT
Buddha Charitam lll Canto, Grammar and Comprehension

Time : 2%2 Hours Max. Marks : 60

Instructions : i) Answer in Sanskrit/Kannada/English.
if) Question Nos. I and VI should be answered in Sanskrit

only. ‘
I, efiehm 3o fae foraa | AN (10x1=10)

rsfalentrin emgdﬁmq 0%, W30WD. ’-“ Wio.a ,,*_‘é,.
Choose and write the correct answer. | _' o5 - 0 A\ ".b:‘;\/'
1) frgidi foar =: 2

) A 31) wfFdaeE: 3) IGIE: 3) RE:
2) Fg1d: IR &: 39 IEES: ¢

H) Iva: HAT) AT 3) fo=: 3) I

3) TS <higel VG AR 7

H) T 1) oI 3) fewy 3) aHE
4) T GEHAAT FF T 7

) BNy ) Y 3) ARy 3) IRy
5) 91: A g™l 9Y: 7

) T M) T 3) T ) |
6) st =X & fafdfm 7
3) < M) HET: RCUIE §) Igu:

7) Ha: &M Fadymms 7

) TH ;) TR 3) HuH
PT.O
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8) T ATT: T ?
FH) =0 3m) wfen 3) HU ) S
9) #a: =fdfy: g ?
1) fagfir: 3m) =g 3) gs=m: %) N
10) IaH Higem 3 ?

) ISR - 3AT) Fedaarag
3) SredeHyg 3) JSuEAEe
Il. UehE I3 a-gET0] 39 forad | (1x10=10)

CRBJTRTTR wom T I 1 0007 Sraw SUZTIT, WToWO.
Write an essay on any one of the following.

1) fergreien forgmemt avf | P

AN
ATTFE WSRTCIRE, 0RY WeIFA0.
Describe the pleasure trip of Siddhartha. ¥
i : . B\ {
2) fagi¥h 3= gg-v-gagwaTT Towy Fok | ' ;37“&‘
AT ToT R,0-0ReN Tome W R :;,d@zfas@ REIFA. *‘-:g-
Describe the features of old, diseased and dead persons seen by Siddhartha.
. g Sgfefi foraa | (2x5=10)

QIR TTTR AT QRCONFZ), BIOB P EFedonT) wiowo.
Write short notes on any two of the following.

1) AETERTSHIETI
2) ARy

3) AGIEHTT

4) GG |



WD A0 0 %
IV. o Yol SFETE Feal oo |

CIRNDTOTWTL TR 3 faeﬁmf-’* BTN, WO,
Translate and explain any two shlokas.
1) aar Jo= e v
PEMIIHE TR |
TR AT TIEYE T |
TR faErEEm )
2) d g2d: SN Hie
Fafeal eaden qur= |
HigEasq fme sfEg
AY TS e ||
5T ON8) W g dcerifue wewy
h ',f IGTEETET: FHIE ¢ |

=S, RS Stiof 1l sy
68 «-:;?f‘ gearee farfaurenser ||
- /I; YA AT
EEATHETE: RIS |
T I e ECIME

V. @:W:Wﬁﬁgﬂﬁl

CIRNWYTITTR QTR mﬁ,ﬁéﬁ: ROTIFR&LT =OR.

Explain any two sentences with reference to context.

1) W91 T THIUE w05 |

2) STAEAY 3T v |
3) THT S A AT W |

4) EHi=T J TR |
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(2x6=12)

(2x4=8)
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VI, FRERAATYT 3T foaed |
a) A favys 9 fored (Usammm wa) ¢ (5%1=5)

R

b) 34 ufi=eig ufecar ywamm ST for@a | (5%1=5)
mmﬁﬁmﬁsﬁmmmmmlmamqwﬁ ELI
TS | Td: Ysehded: THAT=: = 37! TRAfY J2H S| 73 fg 9w geam
Sergre | feheq afer v Sfoi sreaeug 3l | qeATd el gt wey g |
ST | T : 3T haaH | H: HFI AT oea 3feqdq | s sem 3ui
HATeDd | dal TRASE: JEE: Y1 Fo JAbEd |

1) aE: ey symq ¢

2) uiter=: ar=d: T Jredae ¢

3) P AW AT T 7 .
4) RS IRE: T 3TeRUq 7 -
5) |: FF FHIM FoeAT ST 7 \




